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o Yhree —Varidhle wap has 8 squares , and a Four-variable wap
~as 16 squares . |

- Three Niews F the ’tu?o-\mn'alv\'c Map are shown belo,
In each i the upper rigW\ square , for exaM(»\e, iovvesfonds
oAl 'GV\o\ k=0, m‘w’\;(evm 2.
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- When wWe P(O’( a function, We ‘Dxﬁ a1 eack Square

7 Ct:ffeSPoIV\dt‘Y\S., to a minterm that is included w the function,
and put o @ W or leave blank those Sguares not included
in ﬂ“’- function , Tor funclions with don’t cares , an X
Joes W the Sglare for w\;ic\\ e minterm i< a dow't care.
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Three -vaviable Waps have R Sqliares , arranged in arectangle as

shown beloD?
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Tt \s sometimes wmofe conviment fo draw the Map in avertical
orienfalion as skown below . Both versions of the map

P(o&ucc tLe same resulfs.
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- The four-varigble wap consists of {£ Squares W the 4 Lyl
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FQNJ;V\j munimum Solutions for 'Func'({ons with o\on”( cares
oloer not S§3V\i1(!'§;av\'t}_‘3 cko.vxﬂe the wetkod we &evc\_OFeA Lt‘fm’e.
We weed %o W\,oolt'ﬁs S\ia\/\ﬂj the definitions of a prime

(my\’ntav\* and. claV\‘% e definition of anessedtial prime
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APrime va\\ﬁ‘famj[g IS a Y‘ecltangle o 1) 208 8 .0 15w K%
not included in any one larger Yecjraﬂﬂ\e.’ﬂms, from the point
0{ View of ano(fwj -ff(W\e {Mf\fccm‘k, X’s .(Aon}'t c,o\{es) aYe
tredted ae 1% .
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o& \Z&ST one § M nol covered \05 an\y othey \s'rime
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« Prime '\M?\fcav\-‘( essen'h'q\ .
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Find e mintmum so\»iﬁo“ 4sig Karnaugl Map .
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| Finding a wmittmum Product of sums expression requires
“no few theory , The following approach s the simplests

i Mafs e c,omp\emeﬂ of the function. (if there is u\reaclj
amgp tor the funclion, veplace o\l 0% by s ,al 15 by
0’s ownd leave X’s Wichonged.)

2. Find the minitum sum of Ploducte (SOP) expression for
the Q,cpr\eme\T of the functionf

3. Use DeMorqan’s theorem (P11) Yo complement that
© expression ; Producing o product of sums ( POS) expression.
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Ve five-Varidble Wap is showdn below , It @(\éis;\s of 2

£ our - variable W\O.PS. With variadbles A, e B qy\cf E . Tws
means a fivevaridble map needs 32 (o) Squares .
Varidble A distinguishes Letween the two WMaps , as
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four-variable wmap pepresents the 16 squares Where A=0,
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Wheve A=1 ., Minterms © through 15 \aelong with Azo
and mivterms 16 thvough 31 with A=1. Eack sqlare
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